
N20 Rivet Nut tool 1

N12 Rivet Nut 5/16” thRead 8

B065 1” X 5/16” heX Bolt 8

B069 2” X 5/16” heX Bolt (tool) 1 

W008 5/16” WasheR 9

REQUIRED TOOLS

Power drill with 
7/16”drill bit

1/2” Wrench 9/16” Wrench

PaRt# desCRiPtioN 8PCs   iteM             
items not drawn to scale

1/2” drill bit

9/16”

B069

W08

N012

N020

1/2”

Collapsing anchor may  
become difficult. 

Keep anchor tool stationary and tighen hex 
Bolt.

Before screwing in the bolt apply a layer of 
silicon over anchor to prevent leaking.

Repeat for all mounts

system:   anchor Kit 516” (8 Pack) 

Material:  steel

Fitment:  universal 
  drilling Required

instruction #: aCC-YB

HARDWARE D523


